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THE OPTimAL E- EQUATION:
E-O0%X)—OxX,+ éf; *t& s, + a_$3+ a.s,'efz 3
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THE ABOVE EQUATION IMPLIES

¢* IF S5, 0r S5 15 INCREASED FROM ITS CORRENT &R0
THEN 2 Wil REBULCE.

» DECREASING S) AND s, (MAKING TWEMN NEGBNVE)
Wikt INCREASE 7WE Z VALVE

¢ THE RATE 6P Co/MNGE OF E VALUE wWirw
CHANGES IV S) 75 yz s ANB WITH CHANGES
IN S5 7's 4f3.

* THE RATE OF CHANGE OF 2 WITH Sg ANOS,
w ZERO,

NOTE THE FOLLOWIND,

e S, Is AsSOCCIATED WITH RESOORCE &

o INCREASING , SAY S, , 70 SemE POSITIVE
VALLOE /MPLIES THAT =%+ 222_ /s LESSER
THAN WHEN $,=20. THE /N TORN IMPLES
THAT $>0 MEANS REDULT /0N /n RESOVRCE(R).
(REC-ﬁLL: 7.,4—2121‘-5‘, 8 - '@)

SIMILARLY H#un\r;bs,‘(o IMPLIES mﬂ-‘.-‘ﬂgng

e HENCE £ 18 omiT WORTH OF A: ¥a "o " h
‘-PM"’\ '50 5 "ot umugwd' Q = ‘ﬁfrﬁfi}nﬁﬁp‘.




